H & 0l & AHS B Ml A

M SHSHI|Y 75
Chel: BEPAE U fM A (cre:xigl)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
31 25,062,640 27,410,275 A2,347,635
= 12,512,156
Jl 137,406
= 2,036,775
Ea 9,950,503
= 425,800
SF2HIE A= 21,526,119 18,759,732 2,766,387
= 11,128,100
Il 22,406
== 1,667,990
o 8,447,823
= 259,800
BEEM X A 12,547,596 9,426,104 3,121,492
= 6,168,100
Il 22,406
s 1,667,990
s 4,429,300
= 259,800
AAHES &5 13,020 13,020
202 04t 11,520 11,520
01 =LHOHI 11,520 11,520
OBAEM 27 ol
11,520,000 11,520
203 =] 1,500 1,500
03 A=A 2= 1,500 1,500
OgZd ZRFM 24| 1,500,000 1,500
SHNERES 2 51,630 53,164 A1,634
101 @124H| 13,840 16,374 1,634
M ORINZZENSES 13,840 16,374 A1,534
OFNEReSF Hgds 22Y 13,840
=0 76,9602 x 12 *162& 12,468
-AEIEE JI2HRES
12,468,0002 *11% 1,372
201 el 37,790 37,790
01 At22t2lt] 15,860 15,860
OLXNA M & oIy
1103%27,00021 %43 11,880
OZE8 &= N& 50,0002 *110H*23] 1,100
OstZNERYs o+ &4 =8
803 +3,00024 122 2,880
2 S5=2g4l 21,930 21,930 0
OFMERE =S DN RBLES 21,930
-t H 3302%15,00024 *42] 19,800




A S
Hm: SALXI| PE
o2 2N L AL (Cre|: ®M2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
| -sSoiewm 2, 13021%50021 23] 2,130
BHEEX AL 4,104 4,104
201 2| 4,104 4,104
01 AtR2telt] 4,104 4,104
Os=3d2 4 Mslal HA 4,104
-&JHA+ Ol =4l 100,000 *38H 3,800
= PAONIE=Ea] 8,000& 38K 304
SIS 04 K& 4,940,000 2,980,000 1,960,000
= 2,980,000
= 512,000
= 1,448,000
402 BI2HR=0l M 4,888,500 2,980,000 1,908,500
= 2,947,000
= 507,800
= 1,433,700
02 QIZIXH2 AL 22 (01 & &) 4,888,500 2,980,000 1,908,500
OIS 701 K&
4,883,500,000& 4,888,500
= 2,947,000
& 507,800
i 1,433,700
405 KHHE SH| 51,500 0 51,500
= 33,000
& 4,200
i 14,300
01 XML =EF S| 51,500 0 51,500
ONIZED MIIsEX 2 K&
7,500,000 *1CH 7,500
= 5,000
& 1,000
i 1,500
OselIsdy MI|IA8S2R e K&
22,000,000 2CH 44,000
= 28,000
& 3,200
i 12,800
&MII0IEX ES AL 32,000 36,000 4,000
= 16,000
= 16,000
402 QI2EXH=01 N 32,000 36,000 24,000
= 16,000
= 16,000
02 QIZFXHE AL B X (01 & THEA) 32,000 36,000 24,000




M 23
HY: ALY 2H
ol SEEE & OOHEAN (Cre|: ®M2)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
O&II0IEXE FOHKIH 32,000,000& 32,000
= 16,000
= 16,000
A NSAEH A0 1,005,000 1,273,000 268,000
= 675,000
= 99,000
[ia 231,000
402 2I2F X201 & 1,005,000 1,273,000 A.268,000
= 675,000
< 99,000
s 231,000
02 QI X2 AL EE (01X THE) 1,005,000 1,273,000 268,000
Ox=aXtsxt FO0XIH 1,005,000,000& 1,005,000
= 675,000
== 99,000
[Ea 231,000
F=ASHEA 2H 2 192,000 192,000 0
307 212t01d 192,000 192,000
05 2IMRIE =3 192,000 192,000
O=AZ=dA 2 X
16,000,000& <122 192,000
AR IEIA MZAI(EIIHXXIY) 7,500 3,000 4,500
201 fer= 3| 7,500 3,000 4,500
01 AtR2tc|HI 7,500 3,000 4,500
OXZJIHA XE=s MHEBE =5 X2
5,000& *1,500CH 7,500
SHARI IStA MZAMS(ZIIHIXR)(EX) 3,634,500 1,440,000 2,194,500
= 1,817,250
s 545,175
a 1,272,075
301 22N = 3,634,500 1,440,000 2,194,500
= 1,817,250
= 545,175
[ia 1,272,075
4Bt 2a3 3,634,500 1,440,000 2,194,500
O2YER HEIA M2AL (ZD|HIXEXI
H)(68) 2,288,000,000& 2,288,000
= 1,144,000
= 343,200
Ea 800,800
O2Y¥E R HEIA MZAL (DI HIXEXI
H)4se) 1,160,000,000& 1,160,000
= 580,000
= 174,000

w
|




FA 3
Hm: SALXI| PE
ol SEEE & OOHEAN (Cre|: ®M2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 406,000
OSBASX WEIIA HZA (ZIIHXLX
2)(AEI1AH) 186,500,000 186,500
= 93,250
S 27,975
o 65,275
AR HEIIA H2ZAIS (OPFREXIY) 283,800 1,900,000 21,616,200
= 141,900
= 42,570
o 99,330
301 EtE NS 283,800 1,900,000 /1,616,200
= 141,900
= 42,570
o 99,330
14 DBt 2 a3 283,800 1,900,000 1,616,200
OSHAST HEIIA WAL (PFREX
) 283,800,000 283,800
= 141,900
= 42,570
= 99,330
23012 3UEX dsRA 2 1,900 200 1,700
= 950
= 285
= 665
301 EtE N = 1,900 200 1,700
= 950
< 285
= 665
14 IIEt2 8= 1,900 200 1,700
23012t 3HEX dsKXA 2
1,900,000 1,900
= 950
[ 285
T 665
Fab=DI W (IR FSImb 165,000 165,000 0
= 99,000
[ 19,800
Ea 46,200
402 BIZtAH=01H 165,000 165,000 0
= 99,000
s 19,800
s 46,200
02 I EASEZ(0IETHR) 165,000 165,000 0




FA 3
Hm: SALXI| PE
Chel: BEPAE U fM A (cre:xigl)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OSHARR HEIIE NSANS (L&
ulkSambs(p) 165,000,000 165,000
= 99,000
[ 19,800
T 46,200
LPGRt=XF &I XH=20H 40,000 160,000 120,000
= 20,000
[ 6,000
Ea 14,000
301 LEIE NS 40,000 160,000 120,000
= 20,000
s 6,000
s 14,000
14 J|Et2a s 40,000 160,000 A120,000
O=dZ7I hEIA M2 A (LGt E Xt
AIXH20H) 40,000,000 40,000
= 20,000
=S 6,000
s 14,000
SSIXHE LPGAH MEXI& 42,000 98,000 /56,000
= 21,000
=S 6,300
s 14,700
301 EtE NS 42,000 98,000 /56,000
= 21,000
= 6,300
Ea 14,700
4Bt 23 42,000 98,000 /56,000
OSstxte LPGRt MR
42,000,000 42,000
= 21,000
= 6,300
Ea 14,700
IHEE NsASB2e ESAME 70,000 71,000 21,000
= 42,000
= 8,400
[Ea 19,600
402 2IZtA=01d 70,000 71,000 21,000
= 42,000
= 8,400
= 19,600
02 QI X2 AL EE(0IETHE) 70,000 71,000 1,000
OJEE M==AY BESAME
70,000,000& 70,000

_5_




FA 3
Hm: SALXI| PE
CHol: BRASE U A (Srol: 22)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 42,000
=S 8,400
s 19,600
HEE 22d X SEaA X 2,400 2,400 0
201 =3 2,400 2,400
01 At22t2ltl 2,400 2,400
OEZBMN =HOIEXE)
200,000& x 12/« 12& 2,400
OIMEX @E=d 2429 & & 27,000 12,000 15,000
201 eer23| 27,000 12,000 15,000
02 S3=gl 27,000 12,000 15,000
OBV HEH(AACE) 2 HIIRS
800,000& » 128 9,600
Oopy|egdzH(ALE) Stz
200,000 * 122 2,400
O dze(AZAE) |2
15,000,000 15,000
OIMEX el0l 2Z2el 1,080 1,080
201 ger=2 3| 1,080 1,080
02 S3=gHl 1,080 1,080
OQIMZAl &elil dIIe3
20,000 *3CH* 122 720
OOIMZR &el0l S&Rs
10,0002 30~ 12 360
Nt sadd 34,850 12,850 22,000
201 Let=23 | 10,850 10,850 0
01 AlR 21| 10,850 10,850 0
OJISH3 et B4 Y S22 HH
10,850, 0002 10,850
207 AP 22,000 22,000
NIEEEET 22,000 22,000
OJIEEs HSUM MBARASY 48 2
= 22,000,000 22,000
303 Z&a= 2,000 2,000
01 Za= 2,000 2,000
O=4HNZ 7 A Al 2,000
x| R 500,000 *20H A 1,000
-2 300,000 *20H A 600
-&ed 200,000 #2042 400
EAZQIEN I QIHEIE X3 42,412 16,840 25,572
Jl 21,206
= 21,206
301 EtE N = 42,412 16,840 25,572
Il 21,206




FA 3
Hu: SABEIE 2=
ol SEEE & OOHEAN (Cre|: ®M2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 21,206
14 0Bt 243 42,412 16,840 25,572
OBAZQIERN QIMEIZ 42,412,000& 42,412
Il 21,206
s 21,206
ASx BAEQIERN QHEIE Xs 2,400 450 1,950
Jl 1,200
= 1,200
301 EtE NS 2,400 450 1,950
Jl 1,200
o 1,200
14 DBt 2 a3 2,400 450 1,950
OXSxt SAEQIERN QIHEIE XI=Z
2,400,000 2,400
Il 1,200
s 1,200
HIMHFEASEE 240t AHAEE T 10,000 10,000 0
= 5,000
s 5,000
307 lztol & 10,000 10,000 0
= 5,000
= 5,000
02 2IZHBYAIHE & 10,000 10,000 0
OBIAHHF2AIE Y 2a0tA JHAZE X
el 10,000,000 10,000
= 5,000
s 5,000
AT 2 MICHE 9,300 10,000 AT700
< 1,860
= 7,440
301 EtE NS 9,300 10,000 AT700
= 1,860
= 7,440
03 A2 E A0 2 (XL THH) 9,300 10,000 AT00
OAgllol 7 M == 9,300,000& 9,300
= 1,860
Ea 7,440
Aot et B 2H A 8,200 8,200 0
301 LEtE NS 1,300 1,300
14 0Bt 2a s 1,300 1,300
O3l |F3A & SHl Al 1,300
-JHel 100,000 %10 1,000
—EHAl 100,000 37K A 300
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M 23
Hm: SALXI| PE
ol SEEE & OOHEAN (Cre|: ®M2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
303 Za= 500 500
01 Za= 500 500
OBAH RTTLR MY
50,0002 *10H 500
307 @120l & 6,400 6,400
02 QI AAEE X 6,400 6,400
OXtH I EH AL 6,400,000 6,400
AASHEEEAIE 72,200 134,300 62,100
201 2= 9,200 6,300 2,900
01 AlR22IH| 300 0 300
OYSiXl eI SEA 28 7o
300,000 300
2 s5=34l 8,900 6,300 2,600
OYH dHsd oelol=0IANE 282
100,000& %12 100
OgeXl MEHZR Z2R3
300,000 * 122 3,600
OYSiXl MEIBE HaE Ha
100,000& *402] 4,000
O=38 dHsd 552=
100,000& * 122 1,200
401 Al HIZ R OHHI 63,000 128,000 65,000
01 AlZ8| 63,000 128,000 65,000
OsS&X dHs3 =A2el
5,000,000 5,000
O dHE3 =FA2e
10,000,000 10,000
Odgl dHzsa =A2e
10,000,000 10,000
O=g dE3d |2 5,000,000& 5,000
OSd HEHotd =Xl2c
18,000,000 18,000
OdEHsH FAIZ+Hl 15,000,000& 15,000
ME SR LA (HE) 829,500 100,000 729,500
s 331,800
s 497,700
401 Al HIZL R 0HbI 829,500 100,000 729,500
[ 331,800
Ea 497,700
01 Al&HI 829,500 100,000 729,500
OHdHSAXIEAIS 829,500,000 829,500
= 331,800
= 497,700
=)t Y2 TEAY 550,000 0 560,000
= 150,000




2A:
PSER
o e

el

rlo o rlor
0¥ o oY
HLH &

r

S - BE - B9I(3H) - NRAY - BES

Ofl &F2H

MEE
Ofl &k2h

A H

4

75,000
75,000
250,000

401 Al HIZ R 0HbI

MW

el

550,000
150,000
75,000
75,000
250,000

550,000

01 A=l

O=Itde gz &4

550,000,000&

HH W

m

550,000
550,000
150,000
75,000
75,000
250,000

550,000

M

W

75,800
19,800
46,200

9,800

76,000

2200

EUNGE

52,700
15,810
36,890

59,600

6,900

01 AtS2t2ltl

OFsEIII| BEZA

6,000,000&

M

22,000,000& 27|

M

200,000 1200 &

MO

25,000 12042

M

6,000
6,000
1,800
4,200
46,700

44,000
13,200
30,800

2,400
720
1,680

300

210

6,000

53,600

6,900

206 =4I

M

I

23,100
3,990
9,310
9,800

16,400

6,700

23,100,000&

23,100
23,100

16,400

6,700
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M 23
Hm: SALXI| PE
ol SEEE & OOHEAN (Cre|: ®M2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 3,990
s 9,310
= 9,800
JIZEsE FHAASKE KA 400,000 0 400,000
= 200,000
= 200,000
401 AIZHIZL SO 400,000 0 400,000
= 200,000
= 200,000
01 Al&H| 400,000 0 400,000
OJ|=83l HYAHASKS XA
400,000,000 400,000
= 200,000
o 200,000
AHEX SEEX 2 OHEAMS 8,978,523 9,333,628 355,105
= 4,960,000
T 4,018,523
SHH=XIAlE 1,893,093 1,984,628 A\91,535
201 er23 | 272,690 400,000 127,310
01 At2t2ltl 27,225 0 27,225
OSSH=XM2IAIE =& ™S S301J| 85
adM =5 4,537,500 *6H 2 27,225
02 S3=gHl 245,465 400,000 A154,535
OSEH=XM2AE =& ™S S3I1J| =X
s 245,465,000 245,465
206 M=l 15,000 15,000
01 M= H| 15,000 15,000
OSSH=xclAME =2 ™S S0 42
= g 15,000,000 15,000
401 AlEHIZ R0 1,605,403 1,584,628 20,775
01 Al&H| 1,605,403 1,584,628 20,775
OS3H=HelAE =8K]XE=H]
20,000,000 20,000
OZ33H=XMelAlE AIZII=T (A, T
=2, =&, otolel, |¥d) 341,213,000 341,213
OUS AL SSHXCIAE JHEA
1,097,800,000& 1,097,800
OUSAHEI SSH=XSIAE JHEAF
100,000,000 100,000
OUSAHE SEHXMEIAIE Q2
Z WHSAH £ 46,390,000 46,390
SIOIEAMA TR 2EMF[AIE XA 500,000 1,542,000 1,042,000
= 350,000
= 150,000
401 AlEHIZ R0 500,000 1,542,000 A1,042,000




FA 3
Hm: SALXI| PE
Tl ARICT] BREEE U JHAAIY (crel: g)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 360,000
s 150,000
01 Al&H| 500,000 1,542,000 21,042,000
OO0 AHAEH A 2B LNFAIE EXAE
500,000,000& 500,000
= 360,000
Ea 150,000
HSAHHR 2ENMFAIE EXIAH 2,254,000 870,000 1,384,000
= 1,578,000
o 676,000
403 AXIEHHSAH=201H 2,254,000 870,000 1,384,000
= 1,578,000
= 676,000
02 SIS0t =S A A 2,254,000 870,000 1,384,000
OUSUHI 2SMHFAIE LRI
2,254,000,000& 2,254,000
= 1,578,000
Ea 676,000
UHSAHTA SSH+XCIAE SEAY 4,331,430 4,332,000 2570
= 3,032,000
o 1,299,430
401 A2 HIZL R 0HbI 4,331,430 4,332,000 AbL70
= 3,032,000
T 1,299,430
01 Al&HI 3,481,430 4,332,000 /850,570
OUS AL SSHXCIAE SEAE
3,481,430,000& 3,481,430
= 2,437,000
o 1,044,430
02 Zeltl 850,000 0 850,000
OUSUHEI SSHXMCIAIE SEAY
2ol 850,000,000 850,000
= 595,000
[Ea 255,000
OrisSAlE MEHH 25 393,180 490,642 A7, 462
= 28,000
= 51,000
= 148,180
= 166,000
HESHE 23 393,180 490,642 A7 ,462
= 28,000
= 51,000
o 148,180
= 166,000
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M 23
3 OrdsAM= dHAH 25
ool ORSAIZ 25 (ol m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 12,000 7,700 4,300
= 6,000
== 1,800
[Ea 4,200
02 LB HANHEE 12,000 7,700 4,300
OHMEi A e OtESSE ElXI
12,000,000 12,000
= 6,000
== 1,800
o 4,200
OSE Toi=24 X2 86,500 99,500 13,000
= 15,600
= 36,400
= 34,500
301 22N = 86,500 99,500 A13,000
[ 15,600
T 36,400
= 34,500
14 0Bt 2a3 86,500 99,500 A13,000
OOt ES=20l 28 Toi2a=s
86,500,000 86,500
[ 15,600
Ea 36,400
= 34,500
Ords= HoHX XA 151,500 200,000 48,500
< 27,000
[Ea 63,000
= 61,500
301 EtE2 NS 161,500 200,000 /48,500
=S 27,000
s 63,000
= 61,500
14 DBt 2 a=S 151,500 200,000 48,500
OO0rdS= oA X
151,500,000 151,500
=S 27,000
s 63,000
= 61,500
OtdS= HIAK 2t 1,000 36,000 135,000
206 MH=H| 1,000 1,000 0
01 M=4l 1,000 1,000 0
O0tds= AfHlXel 258 +8
1,000,000& 1,000
Olis= 25 & 28 2Hd F2AHZ A 6,700 6,700 0

_13_




M 23
3 OrdsAM= dHAH 25
ool ORSAIZ 25 (ol m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 6,700 6,700
02 2B YA HE L 6,700 6,700
O0tdsSE 25 & 28 LA F2UHEAM
& 6,700,000& 6,700
OLZCIDtHAIEE UHSAE 19,800 0 19,800
= 9,900
= 2,970
= 6,930
307 el2to| & 19,800 0 19,800
= 9,900
< 2,970
s 6,930
02 2IZHB A E & 19,800 0 19,800
OAMZF 2 HAHM X 2l
19,800,000 19,800
= 9,900
< 2,970
= 6,930
2 2e| 13,940 15,700 A1,760
BIEAIE 2t 13,940 15,700 1,760
BIEAIEZ JIEt2= 13,940 15,700 1,760
201 et 3| 6,100 6,100 0
01 AtR2tc|Hl 6,100 6,100 0
OMe BIARIX ZHY +42
2,500,000& 2,500
OHIEAE 2 E22 MA(HE HIALE
£5) 1,600,000 1,600
OtiEAe d2012 V=3 E 2l=i]
1,000,000& *23] 2,000
202 04| 7,840 9,600 A1,760
01 =LHO LI 7,840 9,600 A1,760
OtiEAlIg2e] =8 0
7,840,000 7,840
toleg 2l 1,988,887 2,037,397 /48,510
= 1,056,056
= 227,785
[Ea 705,046
toetd 28 1,988,887 2,037,397 /48,510
= 1,056,056
= 227,785
= 705,046
SHEHE NE & 56,542 62,810 26,268
201 Ler23| 24,222 32,350 A8,128
01 At2teltl 22,622 18,350 4,272




M 230
ZE: 0D 22
el et 28 (St &)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
OtZg8=E Sl =AM
150,000 & +5CH 750
OGHHEE A OF2tets & SH-EF AL
24| 1,600, 0002 1,600
OELQRATAN ZF 242
800,000& *52 4,000
Ot e B2 & E22 M
500,000& x2E+22 2,000
OLET, 423 A L& (U2 HDI2
EY 8) 10,000, 0002 10,000
O3 ZTAAS MA 4,272,000 4,272
2 222 1,600 14,000 A 12,400
OB SFIY KA
100,000 & +5CH 500
ONHiEts HICILE A X
500,000 500
Ot NEEE stz
50,0002 *1CH+ 123 600
202 O] 15,360 15,000 360
01 =LHAHI 15,360 15,000 360
O gF=8 Ol
15,360,000 15,360
206 =4I 8,960 8,960
01 =4l 8,960 8,960
OAZEA HHE F 2,300
-PESDI(4L, H==) 110,000 68 A 660
-PEEDI(2L, 5t & =) 100,000 & #38 A 300
-ZERe/E(IL, H=) 90,0003 *102f A 900
—ZMRL[E(ILEY) 100,000 3 22 A 200
-2 (100ML, 2 F) 240,000 x18f A 240
Oded=d =844l Mg 7Y 3,600
- & ASEE NS
200,000&+35 600
“AFAS THFHH 300,000 *10=F A 3,000
OxEIETHA 2HOISEES 1,060
-+=E2HTZAHCWD) pack test
110,000 68 A 660
—PHIH| O] 1H 20,0002 +20H 400
OLHEY 425 FY 2,000,000 2,000
301 2EtE2E = 3,000 1,500 1,500
14 J|EtE2a=S 3,000 1,500 1,500
Osd2g AT 24
30,0002 «100H 3,000
401 AIEHIZL 2 0HY| 5,000 5,000
03 A2 CHYI 5,000 5,000
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S B
mE: (P|2g 22

Rl toed 24 (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O+TAD YRHES FUIYXR
1,000,000 %53 5,000
a2 AHEE ZRIAIE X XA 1,620,000 1,625,400 Ab5,400
= 900,000
= 216,000
s 504,000
402 QI2F X201 & 1,620,000 1,625,400 25,400
= 900,000
[ 216,000
T 504,000
02 QI X2 AL EE(OIHTHE) 1,620,000 1,625,400 A5,400
OARD AIZE YXAE EX N
1,620,000,000& 1,620,000
= 900,000
< 216,000
Ea 504,000
OINIEIX SHUCH HHE ol 2A1 XIE AL 154,000 160,000 26,000
= 77,000
o 77,000
101 @124H| 154,000 160,000 26,000
= 77,000
o 77,000
04 JIZtN2Z2 XS+ 154,000 160,000 26,000
ODIMEX SEUCH HHE ol ZHAl /24|
154,000,000 154,000
= 77,000
[Ea 77,000
SAS=EID| &1 - 22l KA 56,377 49,750 6,627
= 37,744
== 5,589
[Ea 13,044
307 212+01& 56,377 49,750 6.627
= 37,744
=S 5,589
s 13,044
02 QB AANEER 56,377 49,750 6.627
O=25NssEID| € - g2/l X2
ArS 56,377,000& 56,377
= 37,744
= 5,589
o 13,044
FENSFFHID| € - 22l N2 A 61,968 139,437 NTT,469
= 41,312
= 6,196




SN S
FH: PIeg 22
Rl toed 24 (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 14,460
307 gl2tol & 61,968 139,437 ANTT,469
= 41,312
= 6,196
= 14,460
02 2IZHBYAIHE X 61,968 139,437 ANTT,469
O=ZNSEEI| £ - g2/l N2
Ar& 61,968,000 61,968
= 41,312
= 6,196
= 14,460
Sd2 NEststatl UWSHE g ¥vd 89 40,000 40,000
207 ARl 40,000 40,000
01 S| 40,000 40,000
O84z NSl UHEHE-E B
= 40,000,000 40,000
33 &2l 924,680 6,075,880 /5,151,200
= 300,000
7l 115,000
= 90,000
o 419,680
= 2l & =2 2H 924,680 6,075,880 /5,151,200
= 300,000
Jl 115,000
[ 90,000
Ea 419,680
=2 9,680 9,680 0
201 Eer23 | 2,000 2,000
01 At2tltl 2,000 2,000
O=J2c| 82 50,0003 x20JH*23] 2,000
202 04t 7,680 7,680
01 =LHOHI 7,680 7,680
O=Ai2cl gF=4 ol 7,680,000& 7,680
HESMZAIS 600,000 5,962,000 /5,362,000
= 300,000
= 90,000
Ea 210,000
401 AIEHIX R0 600,000 5,962,000 /5,362,000
= 300,000
= 90,000
= 210,000
01 Al&HI 600,000 5,962,000 /5,362,000
CHIZL28 M2 At 600,000,000& 600,000
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am snzel
=H 22 & =& 2H (St &)
SA - B SRIBH) - MRAR - BAS A HIDEZ
= 300,000
=S 90,000
s 210,000
HEN oA S ALE 200,000 0 200,000
401 AISHIZ 2 0HY| 200,000 200,000
01 Al 200,000 200,000
O&MEH 22 28 2H(115Z +H)
200,000,000 200,000
egszae/(32+H) 115,000 104,200 10,800
) 115,000
207 AR 115,000 104,200 10,800
Jl 115,000
01 S| 115,000 104,200 10,800
Osd=Ii 2¥sgac| O|dEI =9
53,000,000 53,000
Jl 53,000
OsZ=H iEaZAE 2LIHE &9
62,000,000 62,000
Il 62,000
HY2AZHI(2FM) 31,169 30,924 245
JlE2Zdel(8d) 31,169 30,924 245
JI23Hl 31,169 30,924 245
201 =3 24,569 24,324 245
01 At22t2ltl 22,815 22,570 245
Oggt=3H| 7,380,000 7,380
O=EH| 8,070,000& 8,070
OZd=AD| SRtz
400,000 = 1CH* 122 4,800
O&F=D| SX= 51,9003 10 =122 623
O3JI¥8)| itz
32,9002« 1CH =122 3%
O3I1&88J| Sxtz
28,9002 1CH+ 122 347
OMFEH ARE FYHI(LE ZIH)| &
) 200,000 *3CH =23 1,200
2 s3=234l 1,754 1,754 0
OdddHl FA2=H| 1,575
-CHISARII1I 1,300, 0002 *23CH*5% 1,495
-ZelH 4,000,000& *1CH*2% 80
OMNRH FHES AER
14,8502« 10412 179
202 04l 2,400 2,400
01 2LHoIH 2,400 2,400
Ol R4 04l 2,400,000& 2,400
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